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OEMAT

I'1. A={(1,2),(1,3),(1,4),(1,5),(1,6),(2,3),(2,4),(2,5), (2, 6),(3,4), (3,5, (3. 6),
(4,5), (4, 6), (5, 6);

B={(1, 1), (1, 2),(1,3),(1,4), 2, 1), (2,2), 3, 1), (4, )}

I2.AnB={(1,2),(1,3),(1,4)}
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P(AUB) = P(4) + P(B) — P(ANB) =%

P(I“)=P(AUB)’=1—P(AUB)=£

P(A)=P[(A-B)U(B-A)]=P(A-B)tP(B-A)=P(A)-P(ANB)+P(B)-P(ANB)=—_.
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1525 5 20 100 -20 400 2000
25-35 10 30 300 -10 100 1000
35-45 20 40 800 0 0 0
45-55 | =10 50 50 v 10 100 1000
55-65 | vs=5 60 60 vs 20 400 2000
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A3. A: evdeyduevo 35< x < 55

B: evdeyouevo x = 40
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